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Voltage(volt)
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Frequency response of 1/{0.1s+1) at f = 0.163Hz

time(sec)

Frequency response of 1/(0.1s+1) at f = 0.476Hz

0 05 1 1.5 2 25 3 3.5 4 4.5 5
time{sec)
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Frequency response of 1/(0.1s+1) at f=1.132H=z
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4~ Frequency response of 1/(0.1s+1)at f=1.577Hz
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4 Frequency response of 1/{0.1s+1) at f = 2.068Hz
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4 Frequency response of 1/(0.1s+1) at f = 4.001Hz
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i Frequency response of 1/(0.1s+1) at f = 5.998Hz

Voltage(volt)
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4~ Frequency response of 1/(0.1s+1) at f = 7.633Hz
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4 Frequency response of 1/(0.1s+1) at f = 9.680Hz
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4 Frequency response of 1/{0.1s+1) at f = 23.980Hz
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